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Once there were two dragons. There was a red dragon. There was a white dragon. The red dragon fought the white dragon. But the noise of the fight killed all the plants and animals. The people imprisoned the dragons but the dragons escaped. They fought for a long time but the red dragon killed the white dragon.
What is the Latin word for ‘but’?…______________________________________
Which tense is the verb ‘Necabat’ in?...____________________________________
Can you think of an English word that comes from ‘Sonitus’?_______________________
Here I’ve translated ‘Olim’ as ‘Once’. Can you think of a prettier translation?... __________________________________________________________
Why does the ending of the ‘Albus’ change to ‘Album’?__________________________
Find two different Latin connectives in the story!______________________________
Which dragon is the Subject of the last sentence?..._____________________________
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Olim erant duos drancones. Erat rubeus draco. Erat

albus draco. Rubeus draco pugnabat album draconem.
Sed sonitus pugnae necabat omnes plantas et animalia.
Populus imprisonavit dracones sed dracones
effugiebant. Pugnabant diu sed rubeus draco necabat
album draconem.





